ANSWER KEY

4 Model answers
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1 often sing songs I like./I sing songs [ like
every day.

1 sometimes read magazines.

[ play computer games in the evenings.

1 never write stories.

1 go to the cinema at the weekends.

1 sometimes cook meals for friends.

UNIT 29
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The Regal Hotel is more expensive than the

Park Hotel.

In the UK, coffee is more popular than tea.
Heathrow Airport is nearer to central London
than Gatwick Airport.

The Toyota Prius is longer than the Toyota Auris.
Sunflowers by Van Gogh is more valuable than
Nympheas by Monet.

me 2 her 3 them 4 us 5 heis

The mobile phone is an older invention than
the iPod.

A car is slower than a jet plane.

Five-star hotels are more expensive than
four-star hotels.

The Pacific Ocean is bigger than the

Atlantic Ocean.

5 It's drier in the summer than the winter.
UNIT 30
1 1 more expensive 2 nicer
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further 4 worse S easier

more powerful 2 faster 3 larger
better 5 heavy 6 bigger 7 better
more exciting 9 expensive 10 better

The River Nile is longer than the River Thames.
Meat is less healthy than vegetables.

Which is worse — cold weather or rainy weather?
Leather shoes are better than plastic shoes.

It's warmer in Spain than in England.

Life in the countryside is less exciting than life
in the city.

People say TV programmes are worse than they
used to be.

I think Sally is nicer than her husband.

Which is further from London — Moscow or
New York?

Harry took some medicine so he feels

better now.
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UNIT 31

1

fast
fastest

nice
nicest

friendly
Friendliest

adjective
superlative

happy
happiest

adjective |late |dry |good | bad | far

superlative | latest | dricst | best

warst | furthest/ farthest

1 driest 2 friendliest 3 furthest/farthest 4 latest
1 the oldest - Edinburgh Castle

2 the most popular — Edinburgh Castle

3 the smallest — Windsor Castle

4 the biggest - Dover Castle

5 the lowest — Dover Castle

1 best 2 most beautiful 3 warmest 4 the nicest
5 furthest 6 in 7 least 8 most

UNIT 32
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2

1D 2D 38 4D

1 Turley Street isn’t as expensive as Salford Road.

2 Turley Street is the same size as Salford Road/
Turley Street and Salford Road are the same size.

3 Salford Road isn’t as far from the centre as
Turley Street.

4 Salford Road isn’t as new as Turley Street.

5 1think Turley Street isn’t as beautiful as
Salford Road.

6 I think Salford Road isn’t as comfortable as
Turley Street.

SILVIE What do you think of these jeans?

CLAUDE They aren't as niceﬁhe ones you bought

last winter.

Really? I think they are exactly the same

as those.

cLAUDE No. They're a much darker colour.

SUVIE Yes, perhaps you're right.

CLAUDE Did they cost the same as the other pair?

sILVIE  No, They weren’t as expensive as those. 1
bought them in the sale.

cLAUDE Do they have any Calvin Klein jeans in

the sale?

No, but they have some that are nearly the

same as Calvin Klein jeans — they look like

them but they’re cheaper.

CLAUDE You mean they’re copies. I always think they
look completely different from the real ones!

SILVIE

SILVIE

UNIT 33
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A 2B 3F 4D S5C

too 2 enough 3 enough 4 enough
enough 6 too 7 enough

1

1

5

1 is not small enough

2 istoo light

3 is not dark enough

4 is too expensive

5 is not cheap enough.

1 It's too late to go into the theatre.
2 She’s too young to eat adult food.
3 He isn't old enough to rent a car.
4 This bag’s too heavy to carry.

5 This bed’s not comfortable enough to use.
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